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UNIT-I
1. Answer any one of the following questions: 12x1 =12
(a) Write a story with its main advice from 5T of faduer with its moral.

(b) Describe the story of f=Hia and f2X0ad | What are the main SUSs given in this
story?

2. Explain any one of the following: 6x1=16
(a) T gaIfer fomr femamenter um=ra |
YT TG THIeAT T ofef: JaH I
(b) I 0T YT TR AT FRefeT: |
I AT HATIRETa T TR e Yoy |l

3. Answer any six of the following questions: Ix6=06
(a) Who is the king of ®feTg<er?
(b) Who is the author of the text f&aiucar ?
(c) What is the name of the first division of f&aiacar ?
(d) Write the name of the friend of fr=3fla ?
(e) How many stories are there in feeocer ?
(f) What do you mean by the word f&amer 2
(g) What is the name of the crow in the story of T 2
(h) How many types of man said in i ? Name them.

4. Translate any two of the following questions: 3x2=16

(a) ol = SR TG 71 M5 7 F Ry
ST TEHRITIT ATSTIfer: Treaet g1
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(b) ferer gefer fama fomrane arfer o |
TS, GATATT ETe & ot g |
(c) T TFRT: T T |

Tehep ey ST T oo T I
UNIT-II
5. Answer any one of the following questions: 12x1 =12

(a) Write a detailed note on Y=+ and its importance in TeqQT T .

(b) Write a story with its main advice from f%E or AW of YsTa with its
moral.

6. Explain any one of the following: 6x1=16
(a) S8 A & GIFT RIS G |
TSI SRETOTT et GO Il
(b) IS TGS TS 7T |
TEIT TSSO | JHTa) e 7 ||

7. Answer any six of the following questions: Ix6=06

(a) Why did author write 9odd— ?

(b) What is the moral of the story YUSILeTheAT ?

(c) Who was HRIX ?

(d) What are the divisions of Ga=Id— ?

(e) Who is called ufosd ?

(f) What is the moral of the story W—Wﬂ ?

(g) What does I=ad—I mean ?

8. Translate any two of the following: 3x2=16
(a) 0T GfOSTT &7 e HETemT: |
SfcT: e T SR et R ||
(b) TAT fo=Im 9 dg 7 dfesed T AT dball |
7 IEN & =T arachd=T: M 1l
(c) PP 2Tl ETDN T T JY &TfT: FATY BHHIGT: |
Feild &2 FEIy ded e ST s e 8 4 T |
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